1IN, chh/de [GeV]

Ratio to ATLAS

N
N

N

=
e¢)

1.4

1.2

0.8

0.6

0.4

0.2

13000 GeV PP

Z+Jet

| | I I I | I 1]
— pT spectrum (ATLAS UE in Z production) ]
- m ATLAS B
—  --O-- Herwig++ 2.7.1 default s
— --i3-- Herwig 7.2.1 default =
il 5; i
~ G M 7
- . % ]
N £ SBggs _|
- ! | . !'— i.?-i’llﬁll-llgl
N _
B nu.%m .-.-.r;l.—.—.ﬂnl'ql}:l E%ﬁgmmm.ﬁmﬂﬂ%ggﬂfﬂmﬁ[ﬂa_
R %@\ﬂg®®@@ @@j @@)@@@ @@Q)@ @@@@

1 1 | 1 1 1 | 1 1 1

0 2 4

Rivet 3.1.10, = 2.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


